2000

(42.5) 62,5 (42.5) o
A L
_:}ﬁ_ﬂﬂﬂﬂﬂﬂﬂ Nhﬂﬂﬂﬂﬂﬂﬂhﬂﬂﬁﬂﬂa/ﬁﬁﬂ\_hﬂ AAAA A
QJ ] :::I:::::::I:::::::I:::::::I: AHOHABR@OE —— ;C
(@]
SIS
—| oo
T B
=
3 i
I :::::I:rd: f
2 |
GL ' GL
/ S| 3
AYE (1/25 %
$) RBOAE X ISETHTT,
0300 @
D& @R (1/5)
__\/\__
'_L -
E #88 (1/5)
|::EE:__
3 ® -
__\/\__
BTN
CE (7 v ABE) ZBI (1/3) 6

600

——
B
A (7 2y ABGBS) FHIN (1/3)
No.| # # % DD B BB
1 it 050x50x12.3 STKR400 B T HHBHIRER
2 Rikey 7T t1.6 SGH "
3 fitik 030x20 AB063S—T5 RRlmEs (L B A R
4 B — 0 0
5 [#lkxvy 7 - AAS(ASA )i -
6 | ftlxyy 7 (FA — " —
7 IV FR%ey T — I —
8 gy 7 - " —
9 Hfigl t3.2 B2 n - &g B THHEHHRER
10 Btz 8 t3.2 " "
11 =R t3.2 " "
12774y Fyxy b M6X 15 7h3i8% "
13 FIANRY M4x 10 ATY VA -
14 NARW b M8x 20 46184 F- & +ER
15 NARW b M8x 65 n "
16 NAR W M8x 25 n "

(BREHE. RROLDFELREETIHBANAHVET, TTEFEO, )

Th97:VA &E547 H1800

KFTHO05308

REAR  REREEMITAFE/E Vo =34 m/s wEXTREX AL ¥ U1 R




